(DICS 31)

B.A/B.Com./B.Sc./B.HM./B.B.A/B.B.M. DEGREE EXAMINATION, DECEMBER 2019.

Time : One and half hours

1.

2.
Century.

20 % %@ngmesﬁ
[Eea0s0.

3.

Third Year

SCIENCE AND CIVILIZATION

Maximum : 50 marks

SECTION A — (2 x 13 = 26 marks)

Answer any TWO questions.

Explain in detail about Neolithic age of metals.
S°SFo s, AGORE Ao K80 DIBoWBNL.

Give an account on the significance discoveries in medical field during 20tk

DeSBONOS® 1HBOSBAD H0PGHH BB 28 TogHRVR

Describe the importance of Mathematics.
Ke3edd00 a0y, P08 DBIBOWH.

Give an account on the invention of Steam engine.

&8 Q0B BNY, eI, Be 8 TFIB0 [FPALOZ.

Explain the Non conventional energy source with example.

0B GHBE FEHIBIOD &ErEes” DHBoSAL.

Explain about biological killers.
255 89Be 18y DSBowHIN.

(a)

(b)

©

(d)

Insulin

’&?63‘3@5

Computer
éoﬁ/.g)"‘?seos
Teleprinter

&O1D0e0d

DDT
&.G.63

SECTION B — (3 x 4 = 12 marks)

Answer any THREE questions.



(e) Atomic power
SRV

()  Solar energy

olel:
(g) Security
el
(h) Iron
Qe

(1) Satellite

SRS
SECTION C — (3 x 4 = 12 marks)
Answer ALL questions.
Fill in the blanks :-
(a) invented pencillin.
DD AN SRR T2

(b) Fertilizers are used in

ABOYED E); 6 TEOT B .

(¢) ILO means
0.05.8, OITID )

(d) Radium therapy is for .

B8&o%o D3ty §%50

Choose the correct answer :-

(a) Blue baby syndrome is due to
2 88 DoE'A B oD H5:os

(1) Mercury
BN

(11) Nitrates
EBedew

(b) Radio was invented by
BEBITD I éi)i)eéa?

(1) Thomas
&50R

(iii)

iv)

(iii)

Lead
HINEY)
Phosphates

R

Biard
B
[



©

(d)

(1) Johane Gutenberg
& 080G

Pesticides are used

DBIHO DoKen BIS GIBIRIE 2

(1) to increase production

65180 2o3E08

(i) To kill insects
gz S056d8

Geothermal energy
3o ég%_go
(1) Conventional energy

oI aDE ¥

(1) Chemical energy

BRma 48

10. Match the following.

(a)

(b)

()

(d)

H2SO04
H2S04

Television
B30De3d

Wind energy
%S

Electricity
3)(‘,53?31:51)_%

iv)

(iii)

iv)

(iii)

iv)

@)

(i1)

(iii)

iv)

Gulimo Marconi

DI 567D

To stop floods
S8&e0 9568

To bring rain

SBo 5785
X

Non conventional energy

TR0 S 8

Atomic energy

SRV

Communication

CARSTISTYLIe IV U]
Conventional energy
oI aDE ¥
Acid rains
€35030°e0

N

Non Conventional energy
TR0 RS ¥8



(DBMATS31)
B.A/B.Sc. DEGREE EXAMINATION, DECEMBER 2019.
Third Year

Mathematics

Paper III — RINGS AND LINEAR ALGEBRA

Time : Three hours Maximum : 70 marks

SECTION A — (8 x 3 = 24 marks)

Answer ALL questions, Each question carries 3 marks.

Explain about Cancellation law in a ring R
S500D30 R & 5763568 To5ahinsd D3Boyn.

Show that a field has no Zero divisors.

g 8500 BreRgeress BB SICYHH00.

Show that every field is an integral domain.

98 FEI0 Jro¥ (BFERD SIHSo0.

Show that the homomorphic image of a Commutative ring is a Commutative ring.
2.8 DA0D HO0PAS F0BIPHT® (D020, &8 DDLDAD HOODHEA WSI*E)0.

Define Linear Span. Prove that L(S) is a subspace of V(F).
20088 DSBYD B0, 3BT ¥o V(F) H L(S) &8 erodo°do & FleS i Toth ol

Determine whether or not the following vectors form a basis of R® (1,1,2), (1,2,5), (5,3,4).
R3&° (1,1,2), (1,2,5), (5,3,4) S8%Fen ST BT BE 8308% 0.

Derive Rank and Nullity of T
Nlehletvy §%63 208aw JBIBe Hroaoge T o 3.)65{’.)01:50&.

Prove that the two matrices A and C~*AC have the same characteristic roots.

3ot S B8 4, CTLAC ev a8 er8ed¥ Suorerodn SOR Goerahd) Hmdod.

SECTION B — (4 x 11% = 46 marks)

Answer ALL questions, each question carries 11% marks.

(a) (1) Show that a finite integral domain is a field.
(11) Show that the intersection of two sub-rings of a ring R is a sub-ring of R.
(1) OBY Jrgpo¥ DEBBB00, &8 K0 SICHI0.
() SoaDHd0 R & ot &55005°0 HEHH0 R & 45500050808 Sue)do.
Or



10.

11.

(b)

(a)

(b)

(a)

(b)

(1) Define Kernal of a homomorphism on rings.

(1) If R is a commutative ring with unit element and M is an ideal of R, then M is a
maximal ideal of R iff R/M 1is a field.

() SoODIBEITHS S5HS (2085500) B DEGDOWS.
(i) OK0mRES Maresswn YA00G DIWAD SoaDH R 308a M o&ahS R 8 M efss
DEAOS @IHe% ess, Ho°g DAL RM 2.8 Ee00,

(i) Prove that a set of vectors which contains the zero vector O is linearly dependent.

(11) Prove that a system consisting of a single non-zero vector is always linearly
independent.

1) w;séx)a% 0 300°0%300e DR 98 387> S 200erSTeRS0 SIedod.
(i) a3 %I"fbeseéé DB BoardrcBo|dg DB béo)éoxﬁ);éi) BP0

Or
If w be a subspace of finite dimensional vector space V(F), then prove that dim (%) =
dimV —dimW
SB0H HBSrer  $OToBT e V(F) édrosoedsn eond  dim (%) = dimV — dimW
Q) o°H0ds.

2 -1 1
(1) Find the characteristic equation of the matrix A =|—-1 2 —1] and verify that
1 -1 2
it is satisfied by A.
31 1
() FindAlifA=|2 4 2]
1 1 3
[2 -1 1
A A=[-1 2 —1| 285 By, orERE ISR S8 0k, & erEeds
1 -1 2
BELEIBN A D0ehyd) SROEA SrHos.
[3 1 1
() A=[2 4 2| ®od At 5D 0k
1 1 3
Or
1 3 2 1
(1) Find the rank of the matrix A=12 4 5 3 l
4 6 6 12

(11) State and prove Cayley-Hamilton theorem.

13 2 1
) A=[2 4 5 3| 3085 By, 53 508° &.
4 6 6 12

(D) 2O - oS 0B 5509 JETD0B0E.
QD ) L



12.

(a)

(b)

(@)
(i1)
(@)
(i1)

(@)
(i1)
(@)
(i1)

State and prove Cauchy-Schwarz's inequality theorem.

If R = {(2,1,3),(1,2,3),(1,1,1)} is a basis of R3, construct an orthogonal basis.

£ - @@&Sd 93T 65 ?og;oeé;&nc‘éo (7R DBIT°DOL0B0.

R¥3% R ={(2,1,3),(1,2,3), (1,1,1)} 25 es5°58:00008 2.5 ©0278)e02) 55T AGyosod.
Or

State and prove Bessel's Inequality.

Find a unit vector orthogonal to (4,2,3) in R3interval.

B35y OIZTIBD (7R DETD0WIN.

R3 @0080°308° (4,2,3) SE¥H 0020 &0 areded 98E E5° 08.




Time : Three hours

BA DEGREE EXAMINATION, DECEMBER 2019.

Third Year
Mathematics

Paper — IV : NUMERICAL ANALYSIS

SECTION A — (8 x 3 = 24 marks)

(DBMAT 32)

Maximum : 70 marks

Answer ALL questions, each question carries equal marks.

1.  Construct finite forward difference table for the function y = x3.

y = x3 [501DE 58S HE KD S0 HE% DB30E.

2. (a)
(b)
()
(b)

Define averaging operator p.

Define Shift operator.
Averaging Operator u &0 Désﬁobo&.
Shift operator & 36530150&.

3.  Evaluate (a) A%sin(px + q) (b) A(e®™**P)
(a) A% sin(px + q) (b) A(e¥ D) © DevdoRy 8% 0b.

4. Find the missing term in the following data

X

0

1

2

3

4

y

1

3

9

8

1

81808

eggesﬁn o

20D Prdosy E08° 0é.

X

0

4

y

1

W 2c

2
9

8

1

5. Explain Iteration method
A HZBD D9Bood.

6. Write Evertt's formula

D5y ARy [Feohod:.

7. Explain simpson's %t rule

?00&’){35‘3 %th rule 0 DHBoVO&.

8. Explain Matrix inverse method.

B85 DS’ DB DSBoHos.



10.

11.

12.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

SECTION B — (4 x 11% = 46 marks)

Answer ALL questions, each question carries equal marks.

(1) State and prove Newton's Forward interpolation formula.

1) Ifuo=1,u=0,u; =5u3 =22,us =57.Find ugs.

(1) B0meody HB KD ©08BES R (@) [959D0D DETD0B0E.

() po=1u; =0,1y =5,u3 = 22,1s = 57 900 U5 LI é?éogsbo&.

Or

(1) State and prove Lagranses interpolation formula.

(i) Using divided difference table, find f(x), which takes the values 1, 4, 40, 85 at
x=0,1,3,4.

(i) Brod ©osBEs W Ee) HIV0D Arvosod.
(i) x=0134 58 f(x)=1,440,85 9008  JgTeede S5eegd  (difference) S weeoe
£ (), o 8208° 0é.

State and prove Gauss Forward Interpolation formula.
PR DB0R ©08BeES JUm@EeR) (H5D0D ASTDoB0é.

Or
(1) Use stirling formula to find y,, given y, = 5225, yg = 4316, y;; = 3256, y;0 = 1926,
Vo1 = 306.
(1) Find the value of y;5, using Bessle's formula if y;, = 2854, y;, = 3162, y;53 = 3544,
Vo2 = 3992.

(i) y1=5225,ys = 4316, y1; = 3256, y1p = 1926, y;; = 306 @035y R8oR Sy
GIAPROD Y, DeVID L3087 08,

(i) Y10 = 2854, y14 = 3162, y15 = 3544, ¥, = 3992 ©00d TSy WrE-R) &5GETR0D
Y15 DO E08°) 08,

Using Romberg's integration, Calculate [ ol/zsixm dx correct to 4 decimal places.

U"om? AITPEO fol/zi dx Q 4 decimal @sa"e)ess Calculate 3a00é&.

sin x

Or

Evaluate f01 V1 + x* dx using Simpson's %!t rule.

L VTF 2% dx 20 DoSy %th rule teeoe E308°% 08,

0 AR S U
(i)  Find root of the equation x3 — x — 1 = 0 by Bisection method.
(11) Find a real root of x = e™* by iteration method.

()  Bisection 558 e x% —x—1 =0 IWEBE a8 TS 980 5208 06
(i) =B DE gOe x = e7F B 28 TP ST EROAROB.

Or



(b) Solve the following equations by Gauss-Sidel method.
10x; — 2%y — X3 — x4 = 3
—2x1 4+ 10x; —x3 — x4, = 15
—Xq — Xy +10x3 — 2x4 = 15
—Xq — Xy — 2x3 + 10x4 = —9.
(Correct to 3 decimal places).

Se808 SEBePOR R0 - ABES SGB ToTe AGosod.

10x; — 2%y — X3 — x4 = 3
—2x1 + 10x; — x3 — x4 = 15
—X1 — Xy +10x3 — 2x, = 15
—Xq — Xy — 2x3 + 10x4 = —9.

(Correct to 3 decimal places).




(DSENG 31)

B.A. DEGREE EXAMINATION,
DECEMBER 2019.

Third Year
English — IIT — Special English

DRAMA AND FICTION

Time : Three hours Maximum : 70 marks
1.  Answer any ONE of the following in about 400 words each. (14)
(a) Bring out the comic element in ‘Midsummer Nights Dream’.

(b)

The fairly world, the courtly world, and the natural world are all very
present in the play — discuss.

(¢) The Mechanicals are a source of mockery throughout the entire play —
Explain.
Answer any ONE in about 400 words each. (14)
(a) John Milton’s ‘Samson Agonistes’ is a tragedy — Discuss.
(b) Sketch the character of Samson.
(¢) Bring out the dramatism in Milton’s ‘Samson Agonistes’.
Answer any ONE in about 400 words. (14)
(a) Bring out the comical element in Shaw’s ‘The Apple Cart’.
(b) Discuss the theme in “The Apple Cart’.
(¢) ‘The Apple Cart’ combines the realm of political satire and futuristic visions —
Discuss.
Answer any TWO choosing one from each section. (7T+7=14)
SECTION - A
(a) Bring out the significance of the title “The Vicar of Wakefield’.
(b) ‘The Vicar of Wakefield’ by Oliver Goldsmith is a sentimental novel — discuss.
SECTION - B
(a) Sketch the character of Margayya.
(b) Bring out the theme of Narayan’s ‘The Financial Expert’.



Annotate any FOUR, choosing TWO from each section.

(a)
(b)
(©)
(d)

(a)

(b)
©

(d)

SECTION - A
This old moon waves. She lingers my desires.
Four days will quickly steep themselves in night.
I do entreat your grace to pardon me.

My fortune everyway as fairly rank’d.

SECTION - B
Julie by an Angel, who at last in sight
of both my parents all in flames ascended.
God, when he gave me strength, to show withal.
O first created Beam and thou great word.
Let there he light, and light was over all.

But safest he who stood aloof.

(4><3% = 14)



(DSENG32)

B.A. DEGREE EXAMINATION,
DECEMBER 2019.

Third year

ENGLISH-IV: LANGUAGE AND LITERATURE

Time : Three hours Maximum : 70 marks

Answer ALL questions
All questions carry equal marks.

Answer any ONE, in about 300 words. (14)
(a) Discuss the significant features of the Age of Milton.

(b) Bring out the characteristic features of the Age of Shakespeare.

(¢) Describe the salient features of the Age of Dryden.

Answer any ONE, in about 300 words. (14)
(a) Analyse the characteristic features of the Age of Jennyson.

(b) Explain the salient features of the Age of wordsworth

(¢) Discuss the important features of the Modern Age.

Critically comment on the achievements of any TWO in 150 words 2x7=14)
(a) Pape

(b) keats

(¢) Charles

(d) Spenser

Answer any TWO in 300 words @2x7=14)
(a) Explain Grimmislaw and Verner’s law.

(b) Characteristics of Old English

(¢) American English
(d) Origin of Language.

Define and illustrate any FOUR 4x3%=14)
(a) Simile

(b) Metonymy

(¢) Pun

(d) Oxymeran
(e) Irony

(H  Apostrophe
(g) Litotes

(h) Euphemism



(DBSTT31)
B.A DEGREE EXAMINATION, DECEMBER 2019.
Third Year
Statistics

Paper — III : Applied Statistics

Time : Three hours Maximum : 70 marks

(b)
2. (a)
(b)
3. (@
(b)
4. (a)
(b)
5. ()
(b)
6. (a)
(b)

SECTION A — (4 x 12% = 50 marks)

Answer any FOUR of the following question.

Distinguish between census and sample survey.
?\)Ebi) S0BaA [HIBEID 38‘3 e FEITOR) Ds0N0.

Obtain the variances of the estimated mean in proportional and optimum
allocation.
odres 2B ePoSBAH FerowoPes® @osT S BE, DB

TP
QD

Work out the analysis of variance for a two—way classification.
B85S D3 4@ DFiies DALOBW.

Explain the meaning of the definition of the ANOVA.
A Q)@ K):g?(xss BE), wgéﬁ.ne) QBT O DSBoFHA0.

Explain completely randomized block design.
CRD Q 3805050.
Explain the statistical analysis of LSD

O.35.8 oY), Frogig¥ DIes DFBEBowS0.

Construct nP and C-Charts.
nP 08050 C- HSeresdd (‘3.)8&012&);3\)\).

Construct X and R—Chart.

X 208050 R~ Sero dGoasmw.

Explain the importance of direct and indirect standarised death rates?
D58, DB rre38 88600 (e00ggHR0 Beyon.

What is the advantages of standardised death rates?

mgééw B0, SPgPOR BEOYID.

Explain the construction and uses of life tables.

2D IeIEo DTYEaI DAL GSBITPORD DSBOYHIN.

Explain organization of N.S.S.O.
N.8.5.0 cin¥), doyeazom DH5B0oHR00.



(a)

(b)

(a)

(b)

(a)

(b)

()

(d)

(e)

®

(2

(b)

@)

V)

Explain the method of moving average for determining trend in a time series
data.

BSOS JrEigEore $E8 oo SRS (B98I 563 DB JBosos.

Give a method of determining seasonal component of a time series.
SPORED AR0Y, 20EIOTO 0T AT 2.8 SFBAZ0Y.

What are the weighted Index Numbers?
g8 o9 Bogge0 TR ?

Explain any two weighted Index numbers?
AP Botd g8 QI S0P DBBOHDL.
SECTION B - (10 x 2 = 20 marks)

Answer the following questions.

Mention any two uses of stratified random sampling.
I8 (DB |KTees bgé’a G0¥); BO GHATTON BOOYH0.

Define Block and Replication.
2§ S08050 BEIOR DBDOHIN.

Define ANOVA.
ANOVA X 1)6530@5.».

Define the term of Experimental Error.

BETK G500 DBDoHB0

What is time series?

PO B IR ?

What is deflation of I.N?

RIPDB05L (S §0ea800 RN ?

What are the merits and demerits of X —Chart.
X — 560500 Gh0Y, g GIgod Beoyin.
Age specific fertility rate.

SARGE 8DBGD) Bew.

Write any two uses of vital statistics.

DS0PSTO B, HFT° Both SIRITTD [FPAVE.

Fixed and chain based methods.

9, (%3 03
?36 &smdagé’a, A0 es5°d mgaa.



(DBSTT 32)
B.A. DEGREE EXAMINATION, DECEMBER 2019.
Third Year

Statistics — IV : OPE. RES., COMP, PROGRA. AND NUME. ANALY.

Time : Three hours Maximum : 70 marks

SECTION A — (4 x 12 = 50 marks)

Answer any FOUR of the following questions.

1. (a) Describe the transportation problem with its general mathematical
formulation.

(b) Solve the following assignment problem of maximization.
Jobs

I II I 1I1v Vv
10 5 13 15 16
3 9 18 13 6
10 7 2 2 2
7 11 9 7 12
7T 9 10 4 12

Employee

H O a @w »

2. (a) Solve the LPP by using graphical method.
Max z = bx; + 7,
S.T.C
X, +x, <4
3x; + 8xy, < 24
10x;, + 7xy < 35
and x;,x, > 0.

(b) Explain simplex method of solving LPP.

3. (a) Explain two-person zero sum game.

(b) Find the saddle point and hence solve the following .
B: B: Bs Bs Bs

Ar/3 2 4 5 6
A A1 7 3 4 5
As| 7 2 0 3 1
Asl 5 6 4 5 7



(a)
(b)

(a)
(b)

(a)

(b)

(a)
(b)

(a)
(b)

()
(b)
(©
(d)
(e)
®
(8
(h)
(@)
)

Distinguish between CPM and PERT.

Write the rule of network construction.

State and Newton's backward formula.

For X =0,1,2,3,4,5, f(x)=1, 14, 15, 56 . Find
difference table.

Derive Weddles rule.

10
Solve J. 1

2

dx by Simpson's rule.

+ X

Write about Regular Falsi method of False position.
Solve the following equation by Gauss method.

2 +3y+z =14

x+2y+3z=11

4x + 3y + 3z = 17

Describe about work sheet in MS-Excel.

Explain data entry in excel.
SECTION B — (10 x 2 = 20 marks)
Answer the following questions.

Define slack variable

Define feasible solution

Define O.R.

Define sequencing problem

Define pay off matrix

Advantages of PERT

Write important methods of inverse interpolation
Define forward difference operator

State the fundamental principle of difference calculus

Write formula of Newton-Raphson method.

f(3) using forward



